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1. n SES 9 TH SGYS F I ﬁwminm 7. 1§ Afth 39 WA 3 km/hr i ad = A

IV F AT T Y TR A FETE 40 Be g wgEa R
s n-1 I 98 2 km/hr i 3fga 911 A T@@ &, @
2 40 iz & @ ug= 2| I9F W AR FEiE
o "2 @ 20-2 % ot 1 g w17
u 3 §é) 6 km (b) 8 km
2. 41 1 43% frud fywrsa ®7 (c) 10 km (d) 12 km
(@) 80 (b) 84
(c) 86 (d) 88 1 1 1
: 8 5/a+4av5 645+5/6 716 +6v7
3. R x = 7+443, W Vx + —— F1 TH 1 7 1 !
;. ady g +8J7+7J§+9J§+8J§
(@ 1 (b) 2 1 9 =1 _7
(¢ 3 (@ 4 1 1
(a) ﬁ (b) 5
4. 461,462 L 463 | 464 frg fawrsy 7
@ 7 () 9 © 1 @ <
© 11 @ 17
5. AM Wi, @ YATHS TEAS  LCM 3R 4x3 - x
’ 9. Ife 9900, WI- It
HCF #91: p 3R g 81 3R p:g=14:13K g @x +1)(6x - 3) Nl
pq=1134, @ 3 3 FEAA F d9 IFW® w127
EoIB
11
G2t (@ 1111 (b) 2222
(b) 35 (c) 3333 (d) 6666
(c) 45
(d) 9ate sAfwkel & Fro Fuifa T8 foen
1 gFT 10. TR (x+V1+x2)(y+41+y%)=1, &
x 3R y arafas T €, @ (x + y2 w1 A=
6. _ (5-4°-0-064 SpE 27
(5:-4)2 +2:16+0-16
A ) 44 (@ O (b) 1
© 5 (d 54 (c) 4 (d 9
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1. What is the ratio of interior angle to
exterior angle of a regular polygon of

n sides?
n-1
(@ n (b) "“2‘“
n-2 2(n-2)
(c) -2— (@) 3

2. 41% +43% s divisible by

(a) 80 (b) 84
(c) 86 (d) 88
3. If x=7+4/3, then what is the value
1
of«/;+ﬁ?
(@ 1 (b) 2
) 3 (@ 4

4, 461 1462 ;463 1 464 j5 divisible by
(@ 7 (b) 9
(€)1l (@ 17

5. Suppose p and g are the LCM and HCF
respectively of two positive numbers.
If p:q=14:1and pqg= 1134, then what

is the difference between the two
numbers?

(a) 27
(b) 35
(c) 45
(d) Cannot be determined due to

insufficient data

6. What is the value of the following?

(5-4)% - 0-064
(5-42 +2:16+0-16
(@ 4 (b) 44
) 5 (d 54
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7. A man walks at an average speed of
3 km/hr from his residence and reaches
office 40 minutes early. If he walks
at an average speed of 2 km/hr,
he reaches 40 minutes late. What is
the distance between his residence

and office?
(@) 6 km (b) 8 km
(c) 10 km (d) 12 km

8. What is the value of the following?
1 1 1

5v4 +45 645+ 576 76+ 647
1 1
+8J7+7J§+9J§+8J§
1 1
(a) ﬁ (b) 5
1
(¢ 1 (@) 6

9. If x=9999, then what is the value of
the following?

4x3 - x
x+1)(6x -3

(@ 1111 (b) 2222

() 3333 (d) 6666

10. If (x+v1+x2)(y+y1+y?)=1, where
x and y are real numbers, then what
is the value of (x + y)2?

(@ O (b) 1

e 4 (d 9

[ P.T.O.



11. 2sin68 2cotl5°®
COS22%. ;. AN 5"

_ 3tan20° tan40° tan45° tan 50° tan 70°

5
1 HE 41 87
jar. ~1 (b) O
© 1 (d 5

12. fodft v Biys % ofid |4 o w dien ™
e W OFHAIM: 9 THE IR 16 THE HI
Al % Q1 Wel § siedl 8| o ol oS

FRY
(@) 6 IS
(b) 8
(c) 10 1§
(d) 12 1S
13. 3Rk 43* x47Y =(2021)2, x#0, y#0, A
wmqﬁwﬁ?
2xy-x-y
(@ 5 (b) 15
(c) 25 (d) 45
14. TH WS a, b, ¢, d ¥ I § | AR
L TR
a+ 1 60
b+ i
c+—
d

@ a, b, ¢, d 1 TP T &7
(@ 24 (b) 51
(c) 68 (d 102

15. AR x2? =17x+y MW y? = x+17y, xX#Y,

WA Yx2 +y2 +1 A 1 R?

(@ 17 (b) 19
(c) 23 @ 27
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16. n 1 JAaH HH 1 7, 4R} 194480+ n = m*?,

SRl m 3R n gl HeEnd #7
(@ 1 (b) 2
() 3 (@ 4
17. aﬁﬁ:%; (x>0,y>0),?ﬁ§
1 WH 4187
(@ 1 (b) 2
(c 4 (d 8

18. TH-TW & w9l A a1 I wdan g6 (S
4 cm B 9@t) @ ufEg &9 %1 fawe =
27

(a) -8\7;53’? cm
(b) (16J‘—8—;‘)arf e

(c) (1643 -8n) @ cm

16n

19. A ¥ B T #I1§ #R 40 km/hr $ =i 4
Iadt §, 999 B A 9% 30 km/hr # 91
¥ 9t 8 3R : A ¥ B 9% 60 km/hr i
9T | el § | HR H hed = #7210 27
(@) %km/hr (b) 42 km/hr

125

(c) 40 km/br (d) —> km/hr

20. 9410 ¥ Fmfafad & ¥ FA-dt wgen gqol
e wer e & a=h g ven gl o .

g
(@) 4 (b) 3
(c) 2 (@ 1



11. What is the value of the following?
2sin68° 2cot15®

co822% Stan75°
_ 3tan2(° tan40° tan45° tan 50° tan 70°

B
(@ -1 (b) O
© 1 d 5

12. The perpendicular dropped from a vertex
of a right-angled triangle upon the
hypotenuse divides it into two segments
of lengths 9 wunits and 16 units
respectively. What is the length of the
perpendicular?

(a) 6 units
(b) 8 units
(c) 10 units
(d) 12 units

13. If 43* x47Y = (2021)2, x# 0, y# 0, then
what is the value of the following?

A4xy+x+y
2xy-x-y
(@ 5 (b) 15
(c)... 25 (d) 45
14. Let a, b, ¢ d be positive integers. If
i ST
a+ et s 1O
b+ !
1
c+—
d
then what is the product of @, b, ¢ d?
(a) 24 (b) 51
(c) 68 (d) 102

15. If x2=17x+y and y? =x+17y, x# y,

then what is the value of \/x2 + y2 +17?

(@) 17 (b) 19
) 23 d 27
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16. What is the least value of n if
194480+n=m4, where m and n are
natural numbers?

(@ 1 b)) 2
() 3 (@ 4
17, If
. Rk B
s, el L R R L
then what is the value of = ?
(@ 1 () 2
() 4 (d 8

18. What is the area of the region enclosed
by three identical circles (each of radius
4 cm) touching each other?

8n
(a) oy square cm

(b) (16«/_—%) square cm

(c) (16V3 - 8n) square cm
(@) Jon square cm

V3

19. A car travels from A to B at a speed of
40 km/hr, travels back from B to A at
a speed of 30 km/hr and again goes
from A to B at a speed of 60 km/hr.
What is the average speed of the car?
(@) £30 km/hr (b) 42 km/hr

125

(c) 40 km/hr (@) =2 km/hr

20. What is the smallest natural number
from the following which must be
subtracted from 9410 to make the
remaining number a perfect square?
(@ 4 (b) 3
(e 2 @ 1

[ P.T.O.



21. 27° + 313 forma fawrsa 87 26. AR a+b=2, 1+1-2 @ o +p3 = WA
b
(@ 8 (b) 10 e 47 i
(¢ 12 (d 21 (@) 2 (b) 4
22. WA T p=22"+2 1 m AR g=2" -m (c) 6 (d) 8
(el n T SO T 27, sy 12 e o 9 24 R A
- 43 ' Heha 81 8 goN 3R 12 Traf &t wm A e
@8 () 1 it & w7
(c) 4 (d © (@ 12 %
. (b) 18 T
23. it fFedft umTenss areafas W@ x &1 T .
71 3Ed 12 S 59 A, @ x fFEE s () 24
#7 (d) w3t wfwel % wro fuifa 7@
(@ 2 (b) 3 G
c) 4 (@d 5 28. Fft R AN ukm/hr A Aga I ¥
350 km f g @ FA F p e @ ¥
£ bomaalaogds k foreft o1 #R # v km/hr i AHa T F
To1+V2 V2443 3+44 s @ g @ B A g B @R §) AR
1 BBl TR @
+ +M+m g?v S q- p = 140, u < HHE =1
foraer TR 27 e ok
(@) ~2020 +1
(¢ 25 (d) 20
(b) ~2021+1
(c) 2020 ++2021-1 29. x GuE! 3R x ot # foran fime @ 87
(d) J2021-1 (@) 11520x (b) S5760x
(c) 480x (d) 192x
25.uﬁx+l=g,aﬁT5"——wmw
a y i T 30. A v FEme p @R g (p > q) F EAR
; e R UK AT HEE: A 3R G R
@ 3 . 2 frfifaa § ¥ F9-w T w27
7 12
g i (@ A>G (b) G>A
€ 14 @ () ASGWV - (@) APeq
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21. 275 + 313 is divisible by
(a) 8 (b) 10
) 12 (d 21

22, Let p=22"*2.m and q=2%"-m
(where n is even natural number). What
should be the least value of m such
that p as well as q is divisible by 5?

(@ -1 (b) 1
(c) 4 (d 6
23. If squaring a positive real number x is

same as adding 12, then what is x
equal to?

(@) 2 (b) 3
(¢ 4 : (@ 5
24. What is

1 1 1
1442 B+43 J3+44

1
Foeet
v2020 ++42021

equal to?

(@) 2020 +1

(b) +2021+1

(c) ~2020 ++/2021-1
(d) +2021-1

25. If
Tl
X+—==
S gk

then what is the value of the following?

Sx
7x2 -3x+7
3 5
7 ® 3
2 10
o i) i
14 @ 29
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26. If

a+b=2, +=-=2

Q|-

then what is the value of a® +b3?

(@ 2 (b) 4
) 6 d 8

27. 8 men or 12 women can do a piece of
work in 24 days. In how many days
can the work be done by 8 men and
12 women?

(a) 12 days
(b) 18 days
(c) 24 days

(d) Cannot be determined due to
insufficient data

28. A car takes p minutes to travel a distance
of 350 km with an average speed of
u km/hr. Another car takes g minutes
to travel the same distance with an
average speed of v km/hr. If u-v=35
and g- p = 140, then what is the value

of u?
(@) 35 (b) 30
(c) 25 (d@ 20
29. How many minutes are there in x weeks
and x days?
(@ 11520x (b) 5760x
(c) 480x (d) 192x

30. The arithmetic - mean and the geometric
mean of two positive numbers p and g
(p > q) are A and G respectively. Which
one of the following is correct?
(@@ A>G (b) G>A
) A=G d A?=G

[ P.T.O.



31. IR o 3R p = wiww x2 +ax+p=0%F

T &, ST B # 0, @ o — B F A F1 7
(@) 4 (b) 3
) -1 @ -3

32. 1§ gFMeR Tt avg it Fima €200 3ifwa

FA Bl 10% H G [ F 9- ff | dra
HHd W 20% & A B ?| I aHR A
T G 1’7

(@ 170
(¢ 150

(b) €160
(d €120

33. Tt =af 7 affs @umo =9 % 7% W

£9,000, 8% W 12,000 N 9% W
15,000 3UR fou| 3@ n a6l it gl
W 50,700 FN TS| n F HH 1 87

(@) 3 (b) 4
() S (@ 6

34. F=fafed Fu w few fifs

1. o HuTE gAqul wEstt % uH H Am
9 ¥ favrsa R

2. Y% fovm @& (> 1) F TS G U@
F 8 W WM A WAy 1 e R

I FUAl § ¥ BA-|1/8 TR R/20
(a) Fad 1

(b) Fad 2

(c) 1323

(@ JFd1IARTE 2

35. 1000 ¥ fawset € @& (1 3R 1000 =

BIgH) 1 87
(@ 12 (b)) 13
(c) 14 (d) 16
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36

37

38.

39.

gfe e
x2 -k2x+30kx-161x-64 =0

F gl H AN YA 7, A A A 6 FR H_

q?

(@ 15

€ 17

(b) 16
(d 18

et 92 & gwe fit Fma €10,000 71 AR
I FYS F 2 m AR T gHS I Fwa §
gl 9}, o @ €250 W Hiew w6 A
T B | HUR * gHS A g wETs 87

(@) 8 m (b) 10 m
(c 12m (d 16 m
= #1 ufeeiy ® for wfiem

ax? +bx+c=0
FAAc:1 % FAJI@ A AT
(@ b2 =alc+1)?
(b) a? =b(c+1)?
(c) b2 =alc-1?
(d) ab? = (c+ 1)?

T SR arelt TRl fiye A 3 e 6x2
3R 2x2 - 1) ¥ AR B w1 dawa 84 i
7 2, @ B 1 aiem = 7

(@ 513

(b) 53 TS

(c) 56 3HE

(d) 59 TS

A weld ¥ 19 192 km A g 7@ FA T B
WM X T 3 @E Y H ge A 2w
FH Al 81 I Med I § 16 km/hr F
HR B 3@ IE0 A A9 To 9l et ®i
fora wwa wm?

(@ 34 (b)
(c) 5

4 92
(d) 6w



31. If a and B are the roots of the quadratic
equation x2 +ox+B=0, where B#0,
then what is the value of a —-p?

(@) 4 (b) 3
(c) -1 (d -3

32. A shopkeeper marks the price of
an article at ¥200. After allowing
a discount of 10%, he still gains 20%

on the cost price. What is the cost price
of the article?

(@ T170 (b) ¥160
(c) T150 (d) ¥120

33. A person borrowed ¥9,000 at 7%,
12,000 at 8% and ¥15,000 at 9%
simple interest per annum. He had to

pay ¥50,700 at the end of n years.
What is the value of n?

(@ 3 (b) 4
() S (@ 6

34. Consider the following statements :

1. The sum of the cubes of three
consecutive natural numbers is
divisible by 9.

2. Every even power of every odd
number (> 1) when divided by 8
gives 1 as remainder.

Which of the above statements is/are
correct?

(@) 1 only
(b) 2 only
(c) Both 1 and 2
(d) Neither 1 nor 2
35. What is the number of divisors of 1000
(excluding 1 and 1000)?
(@) 12 (b) 13
(c 14 (d 16

GHSA-T-MTK/45A

36. If the sum of the roots of the equation
x2 —k2x +30kx - 161x - 64 = 0 is zero,
then what is the difference of the roots?

(@ 15 (b) 16
© 17 [d 18

37. A piece of cloth costs ¥10,000. If a 2 m
longer piece of the same cloth is
purchased for the same amount,
it would cost ¥250 less per metre.
What is the original length of the piece

of cloth?
(a) 8 m (b) 10 m
(c) 12'm (d 16 m

38. What is the condition that the roots of
the equation ax? + bx+c=0 are in the
ratio c: 1?

(a) b? = alc+ 1)2
(b) a? =bc+1)?
(c) b2 = alc— 1)2

(d ab? =(c+1)?

39. Two sides of a triangle forming a right
angle are 6x2 and (2x2 - 1). If the area

of the triangle is 84 square units, then
what is the perimeter of the triangle?

(@) 51 units
(b) 53 units
(c) 56 units
(d) 59 units

40. A train X takes 2 hours less than a train
Y to cover a distance of 192 km between
two cities. Their average speeds differ

by 16 km/hr. How long does the faster
train take to cover the journey?

(@) 3 hours (b) 4 hours
(c) S hours (d) 6 hours

[ P.T.O.



41. TF 39 3R @ FYrl | fomm Hifvw

9

HT 3x + 2y HATHS 87
FY-1 : x3 =-29.8
FUA-1 : y° = 3x
T 3R FYH % 9R & Frefafaa § @ SE-
TF el 87

(@ TH F IW A & U Faad w1 @
i @

(b) JE F IW A & AU Faa wE-11 &
w7y ?

(c) TH H IW A & fag wE-1 iR
HYA-11 31 iere vaf &

(d) A # IR A F faw w1 R
FYA-I1 <1 vty e &

43. T ¥ 3R & FEl ® =R A
A :

o a2 +b2 +c?2 -ab-bc-ca (a, b, ¢

o areafes geard §) wdar e 27

PYi-l:a>b>c

SY94-Il :a+b+c=0

W 3R FeE % aR # Fefafaa # § FR-a

T T R

(@ TH F IW A U Faa w1
ERIE GRS

(b) TA F IW [ F fow Fa@ -1
arfera @

(€ TH F IW ] F fm wwE-1 ek
FA-11 a1 Tafera &

(d) TH F IW [ F g 3 @ Fa-1 R

A & FoR-11 e @
42. TH Y 3R QA FHAl W =R fifvw 44, T W9 IR q FE | Faew A
BA G i WA .
gma;;?bxwtc:O % fouda fug m%mili_z:(x;ty;to)ﬁ
Fya-1 : fafama D> 0 b
-1 : ¢/a> 0 bl b

e ShR e 35 R P & - i 5/ TTE Y
o T &7 ¥ ol et AR # Frafean # 8 -
(@) YA F IR A F fog Faw w1 @ o A

i §

(b) TH F IW I & oY Faa w11 @
i &

() A H IN & F faw F@-1 v
HoH-11 21 firere qafe &

(@) T F IW A F fag w1 ek
FHYF-11 2] gafed e &
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(@ Y F IW N F U Faa w1
anfara &

(b) TH H IW | F U Fad FUR-II
Iifdr &

€ A F IW ]| F fm wm-1 ek
FoF-11 <1 fdra &

(d) T F IW A F w7 @ Fo-1 3
T € FYA-11 3fE ®



41. Consider a question and two statements :

Question :

Is 3x +2y positive?
Statement-I : x3 = -29.8
Statement-II : y3 =3x

Which one of the following is correct
in respect of the question and the
statements?

(a) Statement-I alone is sufficient to
answer the question

(b) Statement-II alone is sufficient to
answer the question

(c) Both Statement-I and Statement-II
are together sufficient to answer
the question

(d) Both Statement-I and Statement-II
are not sufficient to answer the
question

42. Consider a question and two statements :

Question :
Does the equation ax? +bx+c=0
have real roots of opposite sign?

Statement-I : The discriminant D > 0
Statement-II : ¢/a> 0

Which one of the following is correct
in respect of the question and the
statements?

(a) Statement-I alone is sufficient to
answer the question

(b) Statement-II alone is sufficient to
answer the question

(c) Both Statement-I and Statement-II
are together sufficient to answer
the question

(d) Both Statement-I and Statement-II
are not sufficient to answer the
question

GHSA-T-MTK/45A
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' 43. Considera question and two statements :

Question :
Is a2 +b2 +c¢%2 -ab-bc-ca {a, b, c
are distinct real numbers) always
positive?

2

Statement-1 : a>b >c¢
Statement-II : a+b+c=0
Which one of the following is correct

in respect of the question and the
statements?

(a) Statement-I alone is required to
answer the question

(b) Statement-II alone is required to
answer the question

(c) Both Statement-I and Statement-II
are required to answer the question

(d) Neither Statement-I nor State-
ment-II is required to answer the
question

44. Consider a question and two statements :

Question :
2% 4 y6
Is e always greater than
x"+y
4 4
i‘;—yz(x #y#0)?
X“+y

Statement-I : x> y
Statement-II : x2 + y2 > 2xy

Which one of the following is correct
in respect of the question and the
statements?

(a) Statement-I alone is required to
answer the question

(b) Statement-II alone is required to
answer the question

(c) Both Statement-I and Statement-II
are required to answer the question

(d) Neither Statement-I nor State-
ment-II is required to answer the
question

[P.T.O.



45, ﬁﬁe{ﬁqﬁﬂTﬁWﬁﬁﬁ%‘[&ﬁ%ﬁﬂ, KCC) 48. sin? 6 +cos?0-2sin20cos20 F ~Adq

&l % UHEA % TR B &7 HH F1 R7
(@) A (@ 0
(b) T
() 1
(c) A
; (c) 2
(d) FHdd: FH
(d) =TAH FH %1 AR T R
46. 3Ife
¥ 1-cosb +sinb
1+sin® 49. IR cos +sech-2=0, &l OSe<g, al
?h—sme:oc:;e"l%a%w%? cos? 0 + sec? 0 — 2 &1 HH 1 BY
@ L et
X
(b) -1
(b) x
(g O
(c) 1+x
(d 2
d x-1

50. 3fe y=coszx+se02x, R OSx<g, a
47. IR cos(x+y =0 3R sin(x—y)=%, TEl frafofa § & FH-T1 0 TE 27

Tl £ HH 187
x,ye[o,z}, cot(2x —y I ? PONE DAy

(@ O
() 0-5<y<l1
1
s
{cf 1l sy<2
(c) 1
(d 2 (@ y=z2

GHSA-T-MTK/45A 12



45. How many quadratic equations have the
sum of their roots equal to the product
of their roots?

(a) Zero
(b) One
(c) Two

(d) Infinitely many

# 1-cos6 +sin®
1+sin6

sin® +cosB -1
cos6

then what is equal to?

(@)

% | =

(b) x
€ 1+x

d - x-1

47. If cos(x+y)=0 and sin(x - y) = %, where

X, Y€ [0, g:', then what is the value of
cot2x-y)?

(@ O

(b)

N | —

() 1

d 2

GHSA-T-MTK/45A 13

48. What is the minimum value of
sin? 0 + cos? 8 -2sin? Hcos? 6?

(@) O
(b) 1
(¢):=2

(d) Minimum value does not exist

49, If cosO+secf-2=0, where 059<g,

then what is the value of

cos* 0 +sec?8-2?
(@) -2

() -1

(¢ O

d 2

50. If y= cos? x +sec? x, where 0<x< g,

then which one of the following is
correct?

(@) 0<y<0-5

(b) 0-5<5y<l1

(1S g2

(@ y=2

[ P.T.O.



51. IR A, B, C=F Fw § 3 55.
sin(B+C-A) =cos(C+A- B)
=tan(A+B-C)=1

(sec2 o + tana - tanp — tan? )2

+(tano. - tanp)? - sec? o -sec? B

@ (A + B+ C) Toruss sem 27 Torereh s 27
(@) 90° Bl
(b) 120°
(€ 135° [ 8
(d) 150° (¢ 1
52. AR A, B, C, D fdft =g =gs & = g, (d) 2
a‘rsin(A;C)+sin(B;D)wmw%?
56. df% tan6 +secH = 3, @ 3tanb+9secd H
(@) 2
M 1 27
(b) 1
(c) 0 (@ 15
sl (b) 17
53.%@%%%#%@@'5%%% (c) 19
T 81 e W o fog ¥ @ 3@ W @ R,
I8 A 98 10 km R B IR IFAA FH0T 6 T (@ 21

@ ?| AR agEE SHE | 8 km A FIR W

R, @ Fr=fafed # @ =H-w & @ 87 B o v s e,

(@) 0<86<30°
(b) 30°<6<45° 1. \/Sf029+cosec29=tan6+cot9,
(c) 45°<8<60° S8l 0< 6 <90
(d 60°<86<90° 2 s/tan26+cot29+4=sec(~)+coscc6,
T0<0<90
54, i el Frg @ x e 3 Pl T i
M 1 37 o 60° e e #1 <4 forg e 3 2 -/ e 34
y ¥R F TN W, T® 30° A @R
Frafafiaa et # & F9-91 T |98 87 (@) Faa 1
@ o (b) a2
() 2x =3y
() 2x=+3y (c) 1 3R 23N
(@248 33 % @ Fd1RAA2
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51. If A, B, C are acute angles and 55. What is
sin(B+C- A) =cos(C+ A~ B) (sec? o + tana - tanP - tan? )

=tan(A+B-C)=1 +(tana - tanpP)? - sec? a -sec? B
then what is (A + B+ C) equal to?
(a) 90° equal to?
(b) 120°
(c) 135° (@) -1
(d) 150°
. (b) O
52. If A, B, C, D are the angles of a cyclic
quadrilateral, then what is the value of © 1
the following?
. (A+C) . (B+D) (d 2
sin +sin| ——
2
(@) 2 56. If tan® +secO = 3, then what is the value
(b) 1 of 3tan6 + 9secH?
(¢ O
@ -1 (@ 15
53. An aeroplane is observed to be (b) 17
approaching the airport. It is at
a distance of 10 km from the point of (12
observation on the ground and makes @ 21
an angle of elevation 6. If the aeroplane
is at a height of 8 km above the ground,
then which one of the following is 57. Consider the following :
correct?
(@ 0<6<30° 13 \/sec2 0 + cosec?6 = tan® +cot®,
(b) 30°< 6 <45° where 0 <6 <90°

() 45°<6<60°

2 \[tan29+cot29+4=sec6+cosec9,
(d) 60°<6<90°

where 0<6 < 90°
54. The angle of elevation of the top of
a tower of height x metre from a point Which of the above is/are an identity/
on the ground is found to be 60°. By identities?
going y metre away from that point,
it becomes 30°. Which one of the

following relations is correct? o) L enly

@ x=y (b) 2 only

(b) 2x =3y

© 2x=+3y (c) Both 1 and 2
(d) 2y=+3x (d) Neither 1 nor 2

GHSA-T-MTK/45A 15 FRTO.



58. Tl wiw gu A Sfan i, S FE W 20 ® 61. Frafafaa wuAl = f=m Aifv
FU FARq WA B, TR TR, TR 1. ok & 39 B A shard AB 3w AC

6 < 45°7 TR &, A Jq F K, FV CAB &
(@) sin20 oy faaretes W fra grm)

2. IR A A g9 fordt T@r g wEn

) wore A, B, C ¥R D W yfredfa A &, @
(c) 2sinb AC = BD. »
(d) 2cos® ST woHl § @ BH-|1/A |l /R
(@) Faa 1
59. Ife tan?6+3sec6-9=0, & 0<6<90°, (b) ¥ 2
Al 12cot? 8 + 3cosecd I HH T &7 (© 1323
(@ W3+1)? d AR 1AAH 2
b) W3+2? 62. 25 cm B ¥ it g A w1 A owé
48 cm B 99 ¥ F3 ¥ Sl W @R T =
© @J3+12 Y TwETs @ 87
(@ S5 cm
(@ (3V3+1? (b) 55 cm
(c) 65 cm
60. IR (d 7 cm
cosB cosH #
cosech +1 cosect -1 63. x TS & U4 F1 U8 &9%d y e F M &
&l 0<0<90°, A sin? 0+cos? 0 F AA T % W ) Rl S W
ﬁﬁﬂ?ﬁlﬁm:
EoIR
1:982x>8Y
o il 2. ¥ 1 A, TR F A A S 2
(b) 1 Sy ol H ¥ FH-w /2 v R/
; (@) Had 1
@ 3 (b) Fad 2
(c) 1 3R 23t
{d)y-=

(d AWM 1IARAH2
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58. What is the length of the chord of a unit
circle which subtends an angle 26 at
the centre, where 6 <45°?

(a) sin26
(b) cos26
(c) 2sinb

(d) 2cosB

59. If tan26 + 3sec® -9 = 0, where 0<6<90°,

then what is the value of
12cot? 8 + 3cosech ?

(@ 3+1)>2
(b) W3+2)?
(c) @3 +1)>?

(d (3V3+1)>2

60.. If

cosO cos6 2
cosecO+1 cosecHb-1

where 0<6<90°, then what is the
value of sin* 0 +cos?0? :

(@ 2
(b) 1

()

N | =

(@)

B

GHSA-T-MTK/45A 17

61. Consider the following statements :

1. If two chords AB and AC of a circle
are equal, then the centre of the
circle lies on the angle bisector of
angle CAB.

2. If two concentric circles are
intersected by a line at A, B, C
and D respectively, then AC= BD.

Which of the above statements is/are
correct?

(a) 1 only

(b) 2 only

(c) Both 1 and 2
(d) Neither 1 nor 2

62. A circle of radius 25 cm has a chord of

length 48 cm. What is the length of the
perpendicular drawn from the centre of
the circle to the chord?

(@) 5 cm
(b) 55 cm
(c) 6'5:cm
(d) -7 cm

63. The surface area of a cube of length x

is equal to the surface area of a sphere
of radius y. Consider the following
statements :

1. 2x>3y

2. The volume of the cube is greater
than the volume of the sphere.

Which of the above statements is/are
correct?

(a) 1 only

(b) 2 only

(c) Both 1 and 2
(d) Neither 1 nor 2

[ P.T.O.



64. Tt Tragei wig 6t Bow ik = 3:7 %

Igad & 81 IR IF F @G 528 cm? 3§,
@ v A S 7 (n=2—72?ﬂﬁm)

(@) 35 cm
(c) 105 cm

(b) 70 cm
(d) 140 cm

65. Tt STR et *1 3afe =™ 14 cm R

TH A AR 154 ot ufy e i @ o
@ W 2| km/hr & ot f ey w7

(n = 22 <ffi)
(@ 05
(c) 08

(b) 06
d 1

66. 6 cm T & H¥ & TH T Nuara ¥

H: 91 Ml § e e s} W et %
M 2 cm, 4 cm 3R xcm 8| fr=fafas §
Y HH-91 T FE 77

(a) 5 cm <xcm< 52 cm

(b) 52 cm <xcm< 54 cm

(c) 54 cm <xcm< 56 cm

(d) 56 cm <xcm< 58 cm

67. 10 TH1 TS 3R 8 IHE A & TF I

H TAF x a1 §HEE F A AR TAS
y 1 3l ¥ A al A afe fn s 2y
Fr=fafaa weEt w fomr ifvw

1. yeA x§ 3t 2

2. y, 15 1 3h1E B Tha1 B
30 ol H A P-T1/A R/
(@ Fad 1

(b) FA 2

(¢ 13R 23+

(@ @ 1ARAE2
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68. TN AWM % n TAGH FMHR =G H e

T& AR =X 9418 el €1 AR 39 e =
7 AR wet F G B =g m R, @

B SRR AR A YT =TS F= e
m m

(a) _\/: (b) H—"{
m V2m

© g

69. x @HTE 3R y e i TF AFAHR = B

e 3@ I B AR A WE A A Q@ o9
AT H I p B, 3R AR o= f W @
A @ o1 oo H AGaT g 8, 991 Il
q = 2p, @ Fr=afafaa & @ FR-w1 = 9d 27

(@ x=y
(b) 2x=3y
(c) x=2y

(d 3x=4y

70. 18 cm B & I muR T W W=

ATATHR T | 1= 7 A g 9w R | @
0-9 cm =1 % u1g % M 368 gaT S £
fope Tt g game W % e @1 'R 3 em
g Sme?

(@ 100
(b) 500
(c) 1000

(d) 1500



64. The radius and height of a right circular

cone are in the ratio 3: 7. If the volume
of the cone is 528 cm3, then what is

the height of the cone? (Take n = %)

(@) 35 cm
{c) 10:5 cm

(b) 7-0 cm
(d 140 cm

65. A cylindrical pipe has inner diameter of

14 cm. Water flows through it at a rate
of 154 litres per minute. What is the

speed of water in km /hr? (Take & = %)

(@) 05
(c) 08

(b) 06
(@ 1

66. A spherical ball of lead 6 cm in diameter

is melted and recast into three spherical
balls. The diameters of the balls are
2 cm, 4 cm and x cm. Which one of the
following is correct?

(@) 'S cm <'x em'<id:icm
(b) 52 cm <x cm< 5:4.cm
(c) 54 cm <x cm< 56 cm

(d 56 cm<xcm< 58 cm

67. A rectangle of length 10 units and

breadth 8 units is split into two squares
each of area x square units and two
rectangles each of area y square units.
Consider the following statements :

1. yis always greater than x.
2. ycan be 15 square units.

Which of the above statements is/are
correct?

(@) 1 only

(b) 2 only

(c) Both 1 and 2
(d) Neither 1 nor 2

GHSA-T-MTK/45A
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68. A square sheet is formed by joining n

identical square sheets of same size.
If the length of the diagonal of the bigger
square sheet so formed is m, then
what is the side length of a smaller
square sheet?

m m
e O o
m 2m
o s

69. A rectangular sheet is of length x and

breadth y. If p is the volume of the
cylinder formed by rolling the sheet
along its breadth and g is the volume
of the cylinder formed by rolling the
sheet along its length, and g =2p, then
which one of the following is correct?

(@ x=y
(b) 2x =3y
(c) x=2y

(d) 3x=4y

70. A tall cylindrical container with circular

base of radius 18 cm contains a good
quantity of water. Metal balls each of
radius 09 cm are immersed in it. How
many balls are required to raise the
water level by 3 cm?

(@ 100
() 500
(¢) 1000
(d) 1500

[ P.T.O.



71. Y% 9V3 cm? &% H 9 wHaTg FAaeTER

=Y H ASH Th THATg PYSHR TR 18
STt R 1 St PR wret A Fars an #7

(@) 9V3 cm
(b) 18 cm
(c) 18J3 cm
(d) 27 cm

72. TF GHEGHS ATHR H1 Qd ¢ | 9 @a & IRAN

100 m 3R T faeol f &= 40 m 1 @
Qa1 9R R et # |t s R w R
1 &% fha 87

(@) 150 i HX
(b) 225 = HX
(c) 300 & HiX
(d) 450 i HX

73. ABCD & uvers (difsm) R, Rl AB

YAFIR & DC | WM ST E 3R F 58
AD ¥R BC R Rea-fag %1 ARk EF = 10cm
3R AB-DC=4cm, @ ABxDC ¥ AN
w27

(@ 84 T cm

(b) 96 & cm

(c) 100 = cm

(d) 108 & cm

74. ABCD T& @HI® 9qy¥ &, f’@# AB=15cm

#R AD=8cm. 3Rk AB 3R AD ¥ 9 0
%W%,?ﬁaﬁcmﬁmwiﬁt
ARSI 87

(@) 60sin6

(b) 120sinB

(c) 60cos6

(d) 120 cos®

GHSA-T-MTK/45A
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75. e Tt wnfgag www fw w1 R

42++2)cm B, @ & cm ¥ @A B
FR?

(@ 8
(b) 12
€ 16
(d) 24

76. Toeft i &1 faol 1242 cm ® 3R freh wamg

B 1 &% 6443 @11 cm ?| F=fafaa
FoA # | BH-A/8 T /T

1. @ 3R fgs 1 aRem wmE R

2. % §9%d H 91 A, B & &
% 33 T4 % TR B

= fag e g = wm W ad 3w ghwy
(@ Fad 1

(b) FadA 2

(c) 1R 23H

(d AW 1IMAH2

77. Trafafad s w famr fifsw .

1. Tl Bge &t el @ semett &1 am
dred o1 w = T wifere % R |
F4 71

2. fwdt Py =1 i i mifeemet &
I | afes R

I FUA H A BH-A1/ T 2/E7
(@) Fad 1

(b) FaE 2

(c) 1R 2 3M!

(d A 1IRTE2



71. An equilateral triangular sheet is formed

by joining 9 equilateral triangular
sheets each of area 9v3 cm?. What is

the height of the bigger triangular
sheet?

(@ 9v3 cm
(b) 18 cm
(c) 18J3 cm
{d)..27 cm

72. A farmland is in the shape of a rhombus.

The perimeter of the land is 100 m
and the length of one of the diagonals
is 40 m. The land is divided into four
equal parts. What is the area of each
part?

(a) 150 square metre
(b) 225 square metre
(c) 300 square metre
(d) 450 square metre

73. ABCD is a trapezium in which AB is

parallel to DC. Let E and F be the
midpoints on' AD and BC respectively.
If EF =10 cm and AB- DC=4 cm, then
what is the value of ABx DC?

(a) 84 square cm
(b) 96 square cm
(c) 100 square cm

(d) 108 square cm

74. ABCD is a parallelogram with AB=15cm

and AD =8 cm. If 8 is the acute angle
between AB and AD, then what is the
area of the parallelogram in square cm?

(@) 60sinb
(b) 120sinb
(c) 60cosb
(d) 120cos6
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75. If the perimeter of an isosceles right

triangle is 4(2++/2) cm, then what is
its area in square cm?

() 8

(b) 12
(c) 16
(d) 24

76. The diagonal of a square is 12V2 cm

and the area of an equilateral triangle
is 6443 square cm. Which of the
following' statements is/are correct?

1. The square and the triangle have
the same perimeter.

2. Four times the area of the square
is equal to 343 times the area of
the triangle.

Select the correct answer using the
code given below.

(@) 1 only

(b) 2 only

(c) Both 1 and 2
(d) Neither 1 nor 2

77. Consider the following statements :

1. The sum of any two sides of a
triangle is less than twice the
median drawn to the third side.

2. The perimeter of a triangle is
greater than the sum of the three
medians.

Which of the above statements is/are
correct?

(a) 1 only

(b) 2 only ;

(c) Both 1 and 2
(d) Neither 1 nor 2

[ P.T.O.



78. UH WS¢ D, E 3R F, Bys ABC #i ysnafi
FU: BC, CA 3R AB % nen-farg 81 fge
DEF frefafaa # & fra P/ st %
wahTEn 37

1. AEF
2. FBD
3. EDC

H= fow e e w1 yEE W Ed W g
(@ Fad 1

(b) Faw 2 3R 3

(c) Faa 3

(d 1,23R3

79. & B ABC #, AB= AC 3R BC &gR
Wit @ D 9% @ WHR fF ZACD=x, A
£ BAC T ater 27

(@ 2x-90°
(b) 2x-180°
() 180°-2x

x
(d) 2

80. ABC T& fays ®, Sl B W wHahIv sl 8 3R
AC=2BC R IR £A=x, @ «C fHas
TR 27

x
(a) 5

(b) 2x
() 2x

- (d) V3 x
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81 f/ft B ABC  H, AB=16cm,
AC=12cm 3R AD fgwsi% & 2A &1 3R
BD =4 cm, @ CD Tras srsr 27
(@ 2 cm (b)) 25 cm
(c) 3 cm (d) 35 cm

82. x Y1 aren 1§ wxerg fu, y Ben % foeht
g % wia @ T ) FeEfaRed & @
HH-H1 TH HEl o7
(@ 2y=x
(c) J3y=2x

(b) 2y=+3x
(d J3y=x

83. ABC & fiyst %, st B W ¥H&Iw sl 2|
M it D ma-fag @ AC W 3R
BD=6-5cm, @ AB? + BC? fu® st
14
(@)
(b)
(c)
(d)

84. 1m I35 MM 2m =W Hi @ @ g
SR Th A ¥ U ST 29w @ R) uhd
¥he 1 cm B it wF M o i Al Th |
AR TUHAl €1 T8 Th T T wma A
@relt B Seft?
(@) 280 ®
(c) 230 =

144 9 cm
169 =1 cm
196 ¥ cm
225 91 cm

(b) 260 ©2
(d) 210 =52

85. Tt erarpifires WHTeR Wgtherh I o, Ser
Wﬁﬁ27:8:1%mﬁ%laﬁaﬁﬁﬁﬁ
IR SHAF I TR I G: Th O grell
ST 81 9} SErehifis THI SCHE® 61 I8
mpﬁmmﬁ‘gﬂmq%,ﬁp/q
Topess s 27

247 251
a —_— —_—
@ 108 ) 108
503 505
c) — d —
() 216 @ 216



78. Let D, E and F be the midpoints of the

sides BC, CA and AB respectively of a
triangle ABC. Triangle DEF is congruent
to which of the following triangles?

1. AEF
2.4 .FBD
3. EDC

Select the correct answer using the
code given below.

(a) 1 only

(b) 2 and 3 only
(c) 3 only

(d 1,2 and 3

79. In a triangle ABC, AB= AC and BC is

produced to D such that ZACD = x,
then what is ZBAC equal to?

(@) 2x-90°
(b) 2x-180°
(c) 180°-2x

X

avs

80. ABC is a triangle right angled at B with

AC=2BC. If LA = x, then what is ZC
equal to?

X
(a) 3

(b) 2x
() 2x
(d) 3x
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81l. In a triangle ABC, AB=16 cm,

AC=12 cm and AD is the bisector
of LA. If BD =4 cm, then what is CD
equal to?

(@) 2 cm
(c) 3 cm

(b) 2-5 cm
{d) . 3:5/em

82. An equilateral triangle of side x is

inscribed in a circle of radius y. Which
one of the following is correct?

(b) 2y=+3x
(d J3y=x

(@) 2y=x
() J3y=2x

83. ABC s a triangle right angled at B. Let D

be the midpoint on AC. If BD = 6-5 cm,
then what is AB? + BC? equal to?

() 144 square cm
(b) 169 square cm
(c) 196 square cm

(d) 225 square cm

84. Water is trickling out of a completely

filled cylindrical tank of height 1 m and
diameter 2 m. Every second a spherical
droplet of 1 cm radius trickles down
from the bottom of the tank. The tank
will be emptied in approximately

(a) 280 hours (b) 260 hours
(¢c) 230 hours (d) 210 hours

85. The length, breadth and height of

a cuboid are in the ratio 27:8: 1. The
cuboid is melted and recast into a cube.
If p is the surface area of the cuboid
and q is the surface area of the cube,
then what is p /q equal to?

247 251
(@) Wé (b) _10_8
503 505
sl ) e
© 216 @ 216

[ P.T.O.



86. freht Wil fiyst ABC #, BD @l & %l AC
R®| 3R AC=9 cm 3R AD=4 cm, o
AB+ BC @ foFush sieR 37
(@ 12 cm
(b) 122 cm
{c) 12:4 cm
(d) 126 cm

87. fdt fiym ABC #, AD foswe® ® «BAC
H1| AR’ AB=12cm, BD=10cm 3R
DC = 5cm, @ fis= =1 ufem #0137
(@) 30 cm
(b) 31 cm
(c) 33 cm
(d) 35 cm

88. 4 cm, 7-5 cm 3R 85 cm ﬂmaﬁ IR
i % siarta @R T 79 i fiow w1 27
(@) 15 cm
(b) 2 cm
(c)..-2:5 em
(d 3 cm

89. a6 § 5 cm Y TEAT B 2 FRW &IFA &
SR § 9@ g U 1 A @ 87

(a) 100 =7 Hi&X
(b)) 1000 uA HR
(c) 4000 g+ H&R
(d) 10000 = Hi&X

90. 35 cm Prsan &t WEfFa %1 & ¥=@ 11 km
TR § n qiGHRY @R B1 n HOAE 0 OR7

(n=2_7%ﬁﬁq>

(@ 500
(b) 1000
(c) 2500
(d) 5000
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g : a9 e T 9 (02) Tl % fo, el
Ffwel W fomm fifsm -

4 i qroh § frd T B SR sEEEn wir
HER:

Y TR wfavTaar
30 9% ¥ A= 14-00
30-34-99 29-75
35-39:99 2625
40-44-99 0
45-49-99 1850
50 99 3R 399 31f® 1150

40 o i =g ¥ 9 F =R A e 10-5 9@ R

91. WK I T TEEA (@ &) 1 87
(@ 21
(b) 18
(¢) 15

(d 12

92. Ift 30 T @ F it i g W F FaaA
1 3 Afha A U@ 1:2 }, @ 39 Y
Tig & wEraedt 6 gen (ara §) w7 27

(@) 04
(b) 07
(c) 0-85

(d) 1-05



86. In .a right triangle ABC, BD is
perpendicular on hypotenuse AC. If
AC=9 cm and AD =4 cm, then what
is AB+ BC approximately equal to?

(@)
(b)
(c)
(d)
87. In a triangle ABC, AD is the bisector of
4ZBAC. If AB=12 cm, BD =10 cm and

DC=5 cm, then what is the perimeter
of the triangle?

(@) 30 cm
(b) 31 cm
{c) .33 cm
(d) 35 cm
88. What is the radius of the circle inscribed

in a triangle whose sides are 4 cm,
7'5 cm and 85 cm?

(@) 1-5 cm
(b) 2 cm
(c): 255 cm
(d 3 cm

12 cm

122 cm
12:4 cm
126 cm

89. In a shower, 5 cm of rain falls. What
is the volume of water that falls on
2 hectare area of land?

: (a) 100 cubic metre
(b) 1000 cubic metre
(c) 4000 cubic metre
(d) 10000 cubic metre
90. A bicycle wheel of radius 35 cm makes
n revolutions in moving 11 km. What is
the value of n? (Take n = %)

500

1000
2500
5000

(@)
(b)
(c)
(@)
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Direction : Consider the following data for
the two (02) items that follow :

The table below gives the age-wise population
percentage of a city :

Age group Percentage
Below 30 years 14-00
30-34-99 2975
35-39-99 26-25
40-44-99 0
45-49-99 18:50
50 years and above 11-50

The number of persons below the age of
40 years is 10-5 lakhs. :

91. What is the total population of the city
(in lakhs)?
(@ 21
(b) 18
(6)iS
(d 12

92. If the ratio of taxpayers to other persons
in the same age group below 30 years

is 1:2, then what is the number of
taxpayers (in lakhs) in that age group?

(@) 0-4
(b)

(c) 085

07

(d 105

[ P.T.O.



g ¢ 3 o 9 | (02) weE % forg, frefaRaa
el W foam Hifsr

et wft @ a9 2011 ¥ 2017 & fow =m

(v Tt ) = e T sgEn ®
L] =
2011 138
2012 154
2013 104
2014 13-1
2015 158
2016 172
2017 194

03, frt ad # = % gfg forart am few ad i
A H 15% & e 5617

(@) 2 (b) 3
() 4 @ 5

94, T ad § =  vhwm 3fE @ foa A

o | Afeenad g57
(@ 2012 (b) 2014
(c) 2015 (d) 2017

i : =1 31 a1 2 (02) T % forg, Ffafaa w
ﬁa’nﬁﬁq:

Fara # g fafim ot 4, B, ¢, D 3k E % fiwfia
o fafium #He: 40%, 18%, 9%, 25% 3R 8%
2| o oo fafum € 3004 @@ B

95. A 3R C = e fafram i 7€ fy, B, D
3R E =i fiema fafram € afy it gemn
o et %1 87

(@ 3-:004 9@
(b) ¥4-005 @@
() ¥6-008 @@
(d) ¥8010 9@
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96. AR Fat a2 I dH TN F@™ IY, W A W
foraet Tftn it gfg A soft?
(@) ¥360-48 @M@
(b) ¥300-36 W@
(c) ¥240-32 @M@
(d) ¥180-40 W@

9 : 3 M 9 ¥R (04) T % forg, FrfaRaa
Wﬁﬁl’(m:

et whien &, freit 28R, et oiv it =61 qdem
wifte , 500 aeff wfte gul 30 el Faw
sl # sl gU; 75 Faw fedl & ergel g 50
Fae T § gl gT; 15 SR o R A A
gl ge; 17 R o it IF1 A Sl g
17 7 iR st @M1 A gl g 5 Wt i
wdteolt § el gul

97. F9-¥-%4 7 fywl # gl B ar s

1 1 wfcreraan 87
(@ 54% (b) 64%
() 68% (@d 78%

98, %ad TH fawg # gl BR a s=fdE H

1 wforaan 87
(@ 28% (b) 31%
(c) 358% (d) 388%

99, HH-Y-H1 T fawg & argefl 81 ara sr=afela

=1 Fa1 gl 87
(@ 31% (b) 354%
(c) 388% (d 41-5%

100. T srensfi @ = iR rferee fawai A 3ol gu?
(@) 461 (b) 405
(c) 345 (d) 306



Direction : Consider the following data for
the two (02) items that follow :
The expenditure (in lakhs of rupees) of a

company for the years 2011 to 2017 is as
under :

Year Expenditure
2011 13-8
2012 15-4
2013 10-4
2014 13:1
2015 15:8
2016 17:2
2017 19-4

93. How many times the increase in
expenditure in a year exceeded by more
than 15% as compared to previous

year?
(@) 2 (b) 3
(c) 4 (@d 5
94. In which year, the percentage increase

in expenditure is maximum as
compared to its previous year?
(@) 2012 (b) 2014
(c) 2015 (d) 2017

Direction : Consider the following for the

two (02) items that follow :

The budget allocations represented in a pie
diagram under five different heads A, B, C,
D and E are respectively 40%, 18%, 9%,
25% and 8%. The total budget allocation is
¥300-4 lakhs.

95. How much less amount is allocated to
A and C together as compared to B, D
and E together?

(a) ¥3-004 lakhs
(b) T¥4-005 lakhs
(c) ¥6:008 lakhs
(d) ¥8010 lakhs
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96. How much amount will be increased on
A if the total budget is increased by
three times?

(@) ¥360-48 lakhs
(b) €300-36 lakhs
() ¥240-32 lakhs
(d) ¥180-40 lakhs

Direction : Consider the following for the
four (04) items that follow :

500 candidates appeared in an examination
comprising tests in English, Hindi and
Mathematics. 30 candidates failed in English
only; 75 failed in Hindi only; 50 failed in
Mathematics only; 15 failed in both English
and Hindi; 17 failed in both Hindi and
Mathematics; 17 failed in both Mathematics
and English; 5 failed in all three tests.

97. What is the percentage of candidates
who failed in at least two subjects?

(@ 54% (b) 64%
€ 68% d) 78%

98. What is the percentage of candidates who
failed in only one subject?

(@ 28% (b) 31%
(c) 358% (d) 388%

99. What is the percentage of candidates
who failed in at least one subject?

(@ 31% (b) 354%
(c) 388% (d) 415%

100. How many candidates passed in two or
more subjects?

(@ 461
(c) 345

(b) 405
(d) 306

[ P.T.O.
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DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE TOLD TO DO SO

T.B.C. : GHSA-T-MTK Test Booklet Series

Serial No.

: TEST BOOKLET
1135049  ELEMENTARY MATHEMATICS

Time Allowed : Two Hours Maximum Marks : 100

2.

. You have to enter your Roll Number on the Test Booklet in

INSTRUCTIONS

IMMEDIATELY -AFTER THE COMMENCEMENT OF THE EXAMINATION, YOU, SHOULD CHECK
THAT THIS TEST BOOKLET DOES NOT HAVE ANY UNPRINTED OR TORN OR MISSING PAGES
OR ITEMS, ETC. IF SO, GET IT REPLACED BY A COMPLETE TEST BOOKLET.

Please note that it is the candidate’s responsibility to encode and fill in the Roll Number
and Test Booklet Series A, B, C or D carefully and without any omission or discrepancy at
the appropriate places in the OMR Answer Sheet. Any omission/discrepancy will render
the Answer Sheet liable for rejection.

the Box provided alongside. DO NOT write anything else on
the Test Booklet. :

This Test Booklet contains 100 items (questions). Each item is printed both in Hindi and
English. Each item comprises four responses (answers). You will select the response which you
want to mark on the Answer Sheet. In case you feel that there is more than one correct response,
mark the response which you consider the best. In any case, choose ONLY ONE response for each
item.

. You have to mark all your responses ONLY on the separate Answer Sheet provided.

See directions in the Answer Sheet.

. All items carry equal marks.

Before you proceed to mark in the Answer Sheet the response to various items in the Test
Booklet, you have to fill in some particulars in the Answer Sheet as per instructions sent to you
with your Admission Certificate.

. After you have completed filling in all your responses on the Answer Sheet and the examination

has concluded, you should hand over to the Invigilator only the Answer Sheet. You are permitted
to take away with you the Test Booklet.

Sheets for rough work are appended in the Test Booklet at the end.

. Penalty for wrong answers :

THERE WILL BE PENALTY FOR WRONG ANSWERS MARKED BY A CANDIDATE IN THE
OBJECTIVE TYPE QUESTION PAPERS.

(i) There are four alternatives for the answer to every question. For each question for which a
wrong answer has been given by the candidate, one-third of the marks assigned to that
question will be deducted as penalty.

(ii) If a candidate gives more than one answer, it will be treated as a wrong answer even if one of
the given answers happens to be correct and there will be same penalty as above to that
question.

(iii) If a question is left blank, i.e., no answer is given by the candidate, there will be no penalty
for that question.

DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE TOLD TO DO SO
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